Averages from Frequency Tables Exam Practice

Q1. The table below shows the number of books people who visit a
local library borrowed on Sunday.

Number of books | Frequency |’ .toks
borrowed B i e

1 3 2

2 6 h

3 3 S

4 (o) g

5 (2) \ > 1
Tt g [ as |

a) On Sunday, what was the number of people who left the library
having borrowed more than 3 books?

gL =
Answer: -
(1 mark)
b) Work out the mean number of books borrowed from the library.
ren = LUg
A4
= 1l
Answer: 2
(2 marks)
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Q2. The table below shows the number of points scored by a 5-aside football
team in various different games.

Number of Frequency |"°: fo-b ComdmNe
Points * frese | Pty
1 8 8 g
2 11 7 Z S o
3 7 e S)
4 6 24 2
Over 4 0 O v il
7ot T2 7|

[+ [x]
EE

a) In how many games did the team score more than 2 points?

Z+( <= 13

Answer: l <
(1 mark)
b) Work out the mean number of points scored by the team.
HE _ 9o
gy,
Answer: 2 e u
(2 marks)
¢) State the modal number of points scored by the team.
Answer: Z
(1 mark)

d) Work out the median number of points scored by the team. You must
show all your working out.

3}_—? = H"Sh%o jVLc/L'w\ Les LA/L-'-‘U‘-* H:J'*/ ,,;qu dF Lves

So ek on =L

Answer-:

s o b 7 o

(2 marks)
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Q3. Packets of sweets contain toffees and several other types
of sweets. The following table shows the number of toffees in
a sample of packets.

[+ [x]
EE

No. of Toffees No. of Packets
6 15
7 18
8 X
9 11

a) If the total number of toffees in the sample of packets is 419, find x.

[<lS « Zxl% <+ €x «qx/l = %9
—o Ay * 16 + . +99 = Y19

N ¢~ =10k
= x =13 Answer: 15
(1 mark)
b) Work out the mean number of toffees per packet.
no. of peckel = 1S4 1%+ 17 ¢ Il
= 97
e — | A
e -L—\:—j Answer: 7 35
5T (2 marks)

¢) If the sample contained 600 packets of sweets, estimate the total
number of toffees there were be in total. You must show your working.

[uo x3-35 = 4410.5

LU0 pprees
(2 marks)

Answer:
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Q4. The heights of trees in a forest are recorded in the following table.

Height h of tree Frequency pielpeint:
(metres) (to the nearest 10) | ™ 74
2<h<25 200 07 i
2= =g 350 2 K3 = 425
3 <h<3.5 420 VAR k0 = 184S
3.0<h<4 160 135 g0 = 600
41<h<6 80 S x%0 = Loo
Tk (210 EEEE

a) Work out an estimate for the mean height of trees in the forest.

prias B2 I g8

| (o
Answer: Sel'e
(3 marks)
b) Give reasons why your estimate in part (a) is only an estimate.
— e dob is g ~ped
T Tk Mywo;ﬁ “t U~ St
Answer: e p{ o~ 8S e l’u\»u
(2 marks)
¢) State the modal class for the data.
Tl e, >55
Answer: 3< W <3S
(1 mark)

d) Estimate the number of trees which have a height between 3m and 5m

/LgLo +/]§0 - %%uo) = (o
- S

Clastas © S-S 35— & Answer-: 600

(2 marks)
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Q5. The times of some runners to complete a 5 km race are recorded in
the following table.

Time t of No. of runners :"':o" " M“"; T
(minutes) (e tran iy
15<t<18 18 IL-Sxl§ =297 | ¢ |
18<t <21 37 (4§ >33 =374 L
21 <t <25 26 23xtl = 9 & |
25 <t <30 23 2+-5x2¢{ = &3-S 1
30 < t < 50 21 tox1l = g W 1ZS
t > 50 0 | O
oMy 128 [ 30%
a) Work out an estimate for the mean time of a runner in the race.
Mean 2 3657
es |
A . Zq q ™| ‘V\H
—= y-FI nswer-

(3 marks)

b) Give a reason why your estimate in part (a) is only an estimate.
—P—L d«ﬂ"b\ l-r W

(1 mark)

Answer-:

¢) (i) Which class contains the median? You must show your working.

: h..,.ﬂ/\é-'\:. Q')_g_fg\* \/oL\L
U

= [ v
= BT " Answer: | cb<?¢
\ies w2 ce<s (2 marks)
(i1)) Hence estimate the median time of the runners.
N b3 e gy S0 . [252)
e \ { g gl—SS
oW M e e
. e )‘ i
(\ﬂw.. k) Qﬁ'ﬁ‘/‘-’"‘")) -7, 226 Answer: 2. v Pt
(2. marks)
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Q6. Here are the weights of several pumpkins entered into a village
fruit 'n’ veg growing competition. The heaviest pumpkin is the winner.

[+ [x]
EE

310g 3008 529g 604g 818 1.21kg 1.35kg 1.40kg
1.56kg  1.59kg 1.73kg 1.92kg 2.05kg 2.28kg 2.28kg 2.49kg
2.87Tkg  2.92kg 2.99kg 3.02kg 3.13kg 3.78kg 4.33kg 4.84kg

a) State the mode of the data.

i
Answer- (Ari1453'
(1 mark)
b) Present the data in a frequency table, using 5 classes of equal widths.
(9 L—lulijM U(S) ~eg . M;-i_: - Lsko-No = 4 S30 4
| O<wc | S| 23 y BEo oS = S0k
g < 7’ (o -S —_— V\thﬁ.r \UOOJ ' A
?, c Vv Z_Z :?- 15 A .
3C1~C% 3 [ os HoaCLs
e = — &2 2,3 ? (2 marks)
Tokd o)

¢) Use your frequency table to work out an estimate for the mean weight
of a pumpkin.

l’"\-cmt__s__g_

L
rotll B B
N (3 marks)

d) One regular contestant says, “None of the pumpkins this year weighed as
much as the winning pumpkin from last year”. Does this mean that the
mean weight of the pumpkins was lower this year than last year? You
must explain your reasoning.

0\10. Zouj)" \9-60-’) ﬁv exg,r&/ &Ve’"_‘) ﬁw,\/,/l,.;.‘ (M«/
L.owv.., LLJ/\ L.zm/l.-&f‘ -(74_-—0'\—-1744 A~ ( 0./‘(0\,,__7,,4—](,.”—\&

‘ LV
L;FW.% ’u'(, P IA(P- ‘j-CM) L-'quc/{ 4{ le
. o e Answer: No .

(1 mark)

GCSEMathsRevision.com



[+ [x]
EE

Q7. The following bar chart shows the amount of parcels, by weight, (kg)

received at a main post office branch in a year.
60

50
40

30

20
) . .
0

1-2 kg 3-4kg 5-Tkg 7-10kg 11-20kg

a) Present the above data in the form of a frequency table, and use your
table to work out an estimate for the mean weight of a parcel. Give your
answer to the nearest kg.

| La'she midped  Puca = o1y,
frffJ cagh Chy) Ireyprancy| s feg -—2;2 .

-2 2 il =k b ‘l
(A T $ 52 )=%0:5 - 8 il
>=7 37 (272 = 192
=2 -1V I ¢ Sxlb= 12 P
I1—20 L. 5.5 %62 :_%gcsweri q >

ol ; [25 | T35 (4 marks)

b) Estimate the number of parcels weighing between 3kg and 6 kg which
the post office will process in a day.

13 + 5032) = 23+l6
A
[~ 3=k §-F Ky

(o
(2 marks)

Answer-
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Q8. The following pie chart shows the proportion of 3000 people of different
heights (in cm).

160-170

Present the above data in the form of a frequency table, and use your
table to work out an estimate for the mean height of a person. Give your
answer to the nearest cm.

hwsht Cen) | fregpnnsy (ML
\So —\ §o 160 IS5 xG00 = |35m
| (o - IF0 b 00 6% Gwo = 99000
13— %0 10S6 [FSx1050= |5 395
80 — |90 L So ’g5>h§b:%3f;§o
751 | [Qole 1> S0 S oo

rae & So 5)50?
$ oo

= [l
= 69

Answer- \ L0| Cpa
(4 marks)
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